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X = mean age group|number of drivers| percent| x * percent x°| x“* percent
17 9.7 5.86 99.58 289 1692.81

22 16.9 10.21 224 52 484 4939.37

27 20.6 12.44 335.87 729 9068.48

32 20.5 12.38 396.14 1024 12676.33

37 18.6 11.23 415.58 1369 15376.45

42 16.1 9.72 408.33 1764 17150.00

47 12.6 7.61 357.61 2209 16807.61

52 10.2 6.16 320.29 2704 16655.07

57 9.5 5.74 326.99 3249 18638.59

62 9.3 5.62 348.19 3844 21587.68

67 8.3 5.01 335.81 4489 22499.21

72 13.3 8.03 578.26 5184 41634.78

165.6 100.00 4147 .16 198726.39
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Let X:= number of Swviw’ng Lish
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X has binomial distrioution widh N=40,p

(@) P(X=1d) P(X ¢ 10)-PUX £ 1B)= 10087 =. loq
(o) P(X> 10) P (x29) =|-.001 = .444
() P(x ¢ 16) =. 584
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